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NVS TGT (Maths & Hindi) Official Paper (Held On 28 Nov 2022 Shift 1) (English)

NVS SPECIAL RECRUITMENT DRIVE 2022-23
(Candidate Response Sheet)

Roll Number

Name of the
Candidate

Examination Name ICBSE AID TGT Maths Hindi
Exam Date & Time 28-11-2022 09:00:00

Subject : GA_P1_S3_TGT

Question ID:- 3

In 2022 India will be conducting military exercises ‘Yudh Abhyas’ with which of the
following country ?

(1) Japan

(2) USA

(3) China

{4) Pakistan

T 2022 H w1 AeAifha 7 7 B Tor F A7 91 e a9 S
(YUDH) F%3 ?

(1) stTaT
(2) HTFT TreT AF T
(3) ==
(4) TTERET
Options:-

.1, Option ID :- 9,
« 2, Option ID :- 10,
- 3, Option ID :- 11,

Portal: live.adhyayanmantra.com Connecting Platforms [1]

Web: www.adhyayanmantra.com 9 o o @» O


http://live.adhyayanmantra.com
http://www.adhyayanmantra.com
http://www.adhyayanmantra.com
https://t.me/AdhyayanMantra
https://www.instagram.com/adhyayanmantra/
https://www.facebook.com/adhyayanmantra
https://www.youtube.com/@adhyayanmantraconnected

Available on Join Now

e
LR -
A\l Adhyayan Mantra 383 A

Vi iy

AFREAHT

» Adhyayan Mantra
(e ldE ConnectedApp

Portal: live.adhyayanmantra.com

« 4, Option ID :- 12,
Answer Given:- 1, Option ID : -9

Question ID:- 4

Which of the following statements is/are correct with regard to the Vice President of India ?
Select the correct option using the codes given below :

AL He must be a member of Parliament.

B. He is elected in accordance with the system of proportional
representation by means of single transferable vote.

C. He should not hold any other office of profit.

(1) A only

(2) A and C only
(3) B and C only
(4) A and B only

G F IT-Ire20ia F dad § Meaieriad § T Fra-97/3 F99 T80 /2 ?
A= T2 79 e 1 99N w7 "t Ao w5 =ae fite
A. T 9T FT ST g1 T |
B. T U@ gEATALONA HAT FT ITANT Fleh ATATAH
gt e g 47 Srar 2 |
C. A ATH Tl Fils F+T T &0 AZ[ L THAT 2l |
(1) F=T A
(2) FaT A d¥ C
(3) FAT B AT C
(4) FaT AT B

Options:-
.1, Option ID :- 13,
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« 2, Option ID :- 14,
« 3, Option ID :- 15,

. 4, Option ID :- 16,
Answer Given:- 3, Option ID : -15

Question ID:- 10

When is National Milk Day celebrated in India ?

(1) 26" November, 2022
(2) 26" December, 2022
(3) 26" October, 2022

(4) 26" September, 2022

T § e T @99 Fa gaEAr A g ?

(1) 26 Fa9%, 2022

(2) 26 fEH=T, 2022
(3) 26 FFzaT, 2022
(4) 26 ford=rT, 2022

Options:-

.1, Option ID :- 37,
. 2, Option ID :- 38,
. 3, Option ID :- 39,

. 4, Option ID :- 40,
Answer Given:- 4, Option ID : -40

Question ID:- 1
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Which of the following organisation is going to coordinate research funding with other
funding agencies and work with scientists, engineers and other academics, to ensure the
synergy of purpose and avoid duplication of efforts as per the NEP 2020 ?

(1) University Grants Commission

(2) National Department of Science and Technology

(3) National Research Foundation

(4) Indian Council of Agricultural Research

Tredrr forsr i 2020 F FAga e § T Fra-or #@er e Hieer
TSTHAT % AT THeAT g0 AT AHATADT, S AT AT 77 ATt & A7
T 7k Ig AT99T FeIT o S50 § AgANT g &7 FBapft=aor 5 sy &
T ST Foh ?

(1) FEreaf==meT dqa AT
(2) TTEr s uA g AT
(3) T2 ATHETT TS
(4) TT=ETT FT AT TUE
Options:-
.1, Option ID :- 1,
« 2, Option ID :- 2,

« 3, Option ID :- 3,

« 4, Option ID :- 4,
Answer Given:- 2, Option ID : -2

Question ID:- 5
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Whe among the following won the gold medal in the women’'s flyweight (50-52 Kilogram)
category at the Women's World Boxing Championship 2022 held in Turkey ?

(1) Mary Kom
(2) Jenny R.L.
(3) Sarita Devi
(4) Nikhat Zareen

o § o e =t § st 999 o FitaaT Soaai9mT 2022 7
T FATL-ATT (50-52 BT 777 § =07 T2 v ?
(1) 554 =7
(2) ST AT T
(3) =iaT ==
(4) Faa 5=
Options:-
.1, Option ID :- 17,
« 2, Option ID :- 18,

. 3, Option ID :- 19,

- 4, Option ID :- 20,
Answer Given:- Not Attempted

Question ID:- 2

Which of the following ministries took the initiative of Atal Ranking of Institutions on
Innovation Achievements (ARIIA) ?

(1) Ministry of Education
(2) Ministry of Skill Development and Entrepreneurship
(3) Ministry of Electronics and Information Technology

(4) Ministry of Science and Technology
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A= 7 7 57 "= 7 w2 I A SRaserT AT a9 A= aHeT
(ARIIA) 9Te BT 2

(1) Torear g=merT

(2) Frorer TH=hTH AT ITTHAT HATAT

(3) TH=FEIAET 3T TFAT A=A JATAT
(4) TA=TT 3 FT=IREh Jomea T

Options:-

.1, Option ID :- 5,
- 2, Option ID :- 6,
. 3, Option ID :- 7,

« 4, Option ID :- 8,
Answer Given:- 2, Option ID : -6

Question ID:- 8

Which of the following country was the world’s largest exporter of major arms in 2017-21,

as per ‘Trends in International Arms Transfers, 2021 the |atest fact sheet of the Stockholm
International Peace Research Institute 7

(1) China
(2) USA

(3) Russia
(4) France
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e AATIeErT oTifa SIaeT ST it 99 a9 Tea-T3% AT
AT gEAEIOT & T, 2021 % wqare, Aot # 9 2017-21 #
it w1 e =1 "ad a2t fatas T FE-ar 9v 2

(1) =
(2) =. =T, sTHT=T
(3) =7
(4) T
Options:-
.1, Option ID :- 29,
« 2, Option ID :- 30,

. 3, Option ID :- 31,

« 4, Option ID :- 32,
Answer Given:- 2, Option ID : -30

Question ID:- 9

Which of the following is the aim of the Energy Conservation (Amendment) Bill, 2022 ?

(1) To hasten green transition
(2) To conserve groundwater level
(3) To enhance usage of fossil resources

(4) To prohibit carbon emission
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e & T S "2er (Fetrae) FeTs, 2022 71 #77 7157 g ?

(1) e |heor § TS1 o197

(2) q-STe7 ¥< T &0 FEAT

(3) STraTes HHTEAT F IUANT § FiZ @147
(4) FTET IS FT TIHeT

Options:-

.1, Option ID :- 33,
« 2, Option ID :- 34,
. 3, Option ID :- 35,

- 4, Option ID :- 36,
Answer Given:- 3, Option ID : -35

Question ID:- 6

Who among the following won the Men's Singles title in the French Open held in June
2022 ?

(1) Novak Djokovic
(2) Rafael Nadal
(3) Casper Ruud
(4) Nicolas Mahut

S 2022 H RATST W d AT UFer 7o 7 foara e sfar g ?
(1) 9195 ST=Ha=

(2) TTHA ASTA
(3) FFIT =T
(4) F=rers "1
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Options:-

.1, Option ID :- 21,
« 2, Option ID :- 22,
. 3, Option ID :- 23,

- 4, Option ID :- 24,
Answer Given:- 1, Option ID : -21

Question ID:- 7

Among the following physicists who was conferred the Templeton Prize in 2022 ?

(1) Andre Jim

(2) Frank Wilczek

(3) Vera Rubin

(4) Stephen Hawking

AT & & e |iias BsrET 1 2022 5 Z5ied (O o JEqIe
[ER LRI

(1) = s+
(2) ¥ s
(3) %1 ==
(4) TEr gt

Options:-

.1, Option ID :- 25,
« 2, Option ID :- 26,
. 3, Option ID :- 27,

- 4, Option ID :- 28,
Answer Given:- Not Attempted

Subject : RA_P2_S3_TGT

Question ID:- 19
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Two statements are labelled below as Assertion (A) and Reason (R). Select the correct
answer with the help of code.

Assertion (A) :

Plaster of Paris is used for setting fractured bones by doctors.

Reason (R) :

If Plaster of Paris is mixed with water and used around the fractured limb, it sets into a
hard mass.

(1) Both A and R are true and R is the correct explanation of A.
(2) Both A and R are true but R is not the correct explanation of A.
(3) A is true but R is false.

(4) A is false but R is true.

= 3 Fa9 7 T § T gt saT (A) & 9% (R) B v w1
e Il TEIAAT T Hgl I T FAF HI=0 |

T (A) -
STH=7 Z2T Eigdl &1 (931 & [T waees s T &7 9909 &7 2 |

7% (R) :
Hﬁ'{ﬂ{lwaﬁ'ﬁﬁ'ﬁqﬁmﬁﬁmﬁmmaﬂTQﬁg@%mﬁﬁvﬁm
5raT ST, 91 I8 F312 Odg 99 a1 g |

(1) A 3T R ST Agt g 3T R, At #5gf =41&aT1 § |

(2) A 3T R FHT Al g T97q R, A &l Fg1 =141 981 ¢ |

(3)AFZTE I5+g RI&T 2 |

(4) ATTAd g Uerg RAgr g |

Options:-

.1, Option ID :- 73,
« 2, Option ID :- 74,
« 3, Option ID :- 75,
- 4, Option ID :- 76,
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Answer Given:- 1, Option ID : -73

Question ID:- 14

Three statements have been given, which are followed by two conclusions | and Il.

Assuming that the given statements are true, find out which of the conclusions is/are
definitely true.

Statements :
Q=<W,

D= Q,

W=L
Conclusions .
.D=sW
LLz Q

(1) Only conclusion | is true
(2) Only conclusion Il is true

(3) Both conclusions | and Il are true

(4) Neither conclusion | nor Il is true
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&9 FHAAT F F1% Z AT | &7 || B w2 ) By au F9At T 90 qea
T, T 19 SHitery & Fra-am/d Aoeg Afesa =7 a1 22 |

FUT -

Q<W,

D= Q,

W=L

. D=sW

I.Lz Q

() Faa FeFT |93 8

(2) Faer AT Il 77 2

@) F=T gl ST ST T T 2
@) TS | AT TETNTTZ

Options:-

.1, Option ID :- 53,
. 2, Option ID :- 54,
- 3, Option ID :- 55,

- 4, Option ID :- 56,
Answer Given:- 4, Option ID : -56

Question ID:- 16

Find the missing term of the given series.
24, 96,48,192, 7 | 384,192

(1) 64
(2) 96
(3) 112
(4) 144
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=T = AU FT qoF TS T FNor0T, |
24,96,48,192, ? 384,192

(1) 64

(2) 96

(3) 112

(4) 144
Options:-
.1, Option ID :- 61,
. 2, Option ID :- 62,

. 3, Option ID :- 63,

« 4, Option ID :- 64,
Answer Given:- 2, Option ID : -62

Question ID:- 17

Find the next term of the given series.
LYDIl_ 2

(M

(2) N

(3) ©

(4) P
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=T T Zoft T AT I 70 FIer |
T: Bl 2

(HM

(2) N

(3) O

4) P
Options:-
.1, Option ID :- 65,
« 2, Option ID :- 66,

« 3, Option ID :- 67,

- 4, Option ID :- 68,
Answer Given:- 2, Option ID : -66

Question ID:- 13

A statement is given followed by two conclusions — | and |l. Consider the statement to be
true even if it seems to be at variance from commonly known facts. Decide which of the
given conclusions can definitely be drawn from the given statement.

Statement :

Indians prefer to wear cotton clothes in summer.
Conclusions :

I. Cotton clothes are more comfortable during summer.
Il. India is a hot country.

(1) Only conclusion | follows
(2) Only conclusion Il follows
(3) Both conclusions | and 1| follow

(4) Neither conclusion | nor 1l follows
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= U A =21 1y g B 9= 2 ey | @R 1 3w o ) S A
T AT =g Jg AT 719 T4 7 T4+ wdia grar gr | [y s
r s-arA Bo o ey Fiesa =1 7 {y 7w w97 T FeEaar gfAwaa
2l

FUT

AT § G AT JAT FI2 Tg949T THE F9d ¢ |

| FATFIE AT F SATE AETHALF S0 2

[I. 9d UF TH T |

(1) F=er e | Awear g

(2) Fa« fAewd || FFaar g

(3) == | 3fi= 11 ST P 2

(4) 7 97 e | 7 21 ey || FeEaar g

Options:-

.1, Option ID :- 49,
« 2, Option ID :- 50,
. 3, Option ID :- 51,

« 4, Option ID :- 52,
Answer Given:- 1, Option ID : -49

Question ID:- 18

If North-West becomes South, South-West becomes East and so on, then South-East
becomes

(1) East

(2) West
(3) North
(4) South
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T2 IAL-T9FH FT =0T, IROT-af9=w &1 T4, THT TH1< FUEr A0 a1 51,
AT ZOT-T ol FAT Fogdl 2

(o=

(2) afegT
(3) 397
(4) =fermr

Options:-

.1, Option ID :- 69,
« 2, Option ID :- 70,
. 3, Option ID :- 71,

- 4, Option ID :- 72,
Answer Given:- 3, Option ID : -71

Question ID:- 20

Identify the Venn Diagram that best represents the relationship among three groups of
people — Fathers, Sons, and Men.

METD
@ D
O

(3)

(4)
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TH A AT AT AT ST AT T8 F =AwAt — 097, T i< 7591 6 = 5

(4)

Options:-

.1, Option ID :- 77,
« 2, Option ID :- 78,
. 3, Option ID :- 79,

. 4, Option ID :- 80,
Answer Given:- 4, Option ID : -80

Question ID:- 15

A is the brother of B; C is the mother of A; B is the granddaughter of D; and F is the son of
A. Howis F related to D ?

(1) Grandson

(2) Great Grandson

(3) Brother

(4) Son
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ABFTA=Z;C AR T B.DIOETS ;df=F, AFMIAZIFFID
AT FFAE g ?

(1) 91=r

Options:-

.1, Option ID :- 57,
- 2, Option ID :- 58,
. 3, Option ID :- 59,

. 4, Option ID :- 60,
Answer Given:- 2, Option ID : -58

Question ID:- 11

Four friends A, B, C and D compared their height. It was found that A is taller than B but
shorter than C. D is shorter than C but taller than A. Which of the following is true ?

(1) A is taller than D.

(2) C is the tallest.

(3) B and C are taller than A.

(4) C is shorter than B.

Portal: live.adhyayanmantra.com Connecting Platforms [18]

Web: www.adhyayanmantra.com ﬁ 0 O @o 0



http://www.adhyayanmantra.com
https://t.me/AdhyayanMantra

Available on Join Now

ot e i
ta #M Adhyayan Mantra 3Heade 3
d

S

E Available Platform
Rohit Vaidwan Notes

»Available Y Adhyayan Mantra
el ConnectedApp

— Portal: live.adhyayanmantra.com

= 7= A, B, C 3T D 9«1 @¥=a12 it a1 &t g | Tg arar a1 &6 A fi
TEEBIAEEm e dAACHFH g I DA a=c CHFA g AT
afew g | Aetetad § 79 f9-91 999 g ?

(1) A Fr rm=Te D & A8+ £ |

(2) C Fit T T AfEw 7 |

(3)BAAT C Fr oT+a1s A T ATAF ¢ |

@G CHFa=mEBITFAE

Options:-

.1, Option ID :- 41,
. 2, Option ID :- 42,
. 3, Option ID :- 43,

. 4, Option ID :- 44,
Answer Given:- 2, Option ID : -42

Question ID:- 12

Given below is a guestion followed by two statements - | and |l. Decide which of the
statements is/are sufficient to answer the guestion.
What is used for ‘good’ ?

I. ¥YaNaSa means ‘| am good’ and
‘Sa Na Ke’ means ‘| am hungry’.
II. ‘PiYa Se’ means 'She is good’ and

Ya Su To' means ‘You are good'.
(1) | alone is sufficient while 1l alone is not sufficient
(2) Il alone is sufficient while | alone is not Sufficient

(3) Either 1 or Il is sufficient

(4) Neither | nor |l is sufficient
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‘Good’ =T 1 2 2
I. *Ya Na Sa’ &1 &% 2 'l am good’ 3™
‘Sa Na Ke’ #T &1 2 ‘| am hungry’.
Il. ‘Pi Ya Se’ =T 3T £ "She is good’ 3™
‘“Ya Su To’ 1 %% 2 “You are good’.

(1) 3TF@T | 9o g Fath F=6ar || 997 T8 g
(2) =T || T g Srateh ehaT | T A8t 2

@yararlar il =T g
@aFariagriigar=a g
Options:-

.1, Option ID :- 45,
« 2, Option ID :- 46,
. 3, Option ID :- 47,

« 4, Option ID :- 48,
Answer Given:- 3, Option ID : -47

Subject : ICT_P3_S3_TGT

Question ID:- 22

Which of following device can nof be used as input device in a computer system ?

(1) Joystick
(2) Touch Pad
(3) Keyboard
(4) Plotter
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(1) srtafee®

Options:-

.1, Option ID :- 85,
. 2, Option ID :- 86,
. 3, Option ID :- 87,

. 4, Option ID :- 88,
Answer Given:- 4, Option ID : -88

Question ID:- 28

Which of the following is nof an effective practice to secure our passwords ?

(1) Use password managers
(2) Passwords should contain memorable data for easy recall
(3) Passwords should be changed frequently

(4) Passwords should not be written down in a file
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(1) TTHEE HAST HT TART FHLAT

(2) ATHTHT & AT FiTd F (10 qTHAS # {0 SET 241 A0

(3) TTHAS FT Ao (-STwal A= TgAT AT 2T

(4) TTEEE FT AT Ted J qgl forEgqr Frign

Options:-

.1, Option ID :- 109,
« 2, Option ID :- 110,
. 3, Option ID :- 111,

- 4, Option ID :- 112,
Answer Given:- 2, OptionID : -110

Question ID:- 25

| can be a hardware device or a software program or a combination of both and | am used
to filter out data that comes through a network or the Internet. Who am | ?

(1) Malware

(2) Cookies

(3) Antivirus

(4) Firewall
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(1) ATTaTT

(2) T
(3) TEETATH
(4) FTITATT

Options:-

.1, Option ID :- 97,
. 2, Option ID :- 98,
. 3, Option ID :- 99,

. 4, Option ID :- 100,
Answer Given:- 4, Option ID : -100

Question ID:- 26

Radhika wants to maintain the test scores of all her students in a tabular format to perform
mathematical calculations and prepare result sheets. Which of the following software of
the Microsoft Office package is the best suited for this purpose ?

(1) MS Word

(2) MS PowerPoint

(3) MS Access

(4) MS Excel
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TTEET oae JdT FEnay F av= v @ At EGg (25geT) Ride § Tal

FIAFT TIT ?

(N THTH AT
(2) TH TH qTATAEE

(3) TH TH TFAH
(4) TH TH TFHA

Options:-

.1, Option ID :- 101,
« 2, Option ID :- 102,
. 3, Option ID :- 103,

- 4, Option ID :- 104,
Answer Given:- 4, Option ID : -104

STEAT 2 A1t A" 9wa= ek Tsioe ofte 32 &t &1 796 | 29 93re=
F oo Aremaire A ThT The =T HAraad § F F9-97 S aa7 aaiieas

Question ID:- 24

Which of the following is nof an example of a web browser ?

(1) Microsoft Edge
(2) Google Chrome
(3) Safari

(4) Unix
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(1) ATEHTHIFE TS

(2) T B/
(3) TR

(4) TiT+T

Options:-

.1, Option ID :- 93,
« 2, Option ID :- 94,
« 3, Option ID :- 95,

- 4, Option ID :- 96,
Answer Given:- 4, Option ID : -96

Question ID:- 30

Services available on the Internet include :
a. Locating people using social networking sites

b. Downloading and uploading files from or to remote sites

c. Playing community games

d. Maintaining journals

e. Forming groups and sharing views with like-minded people
(1)a,c,d, e

(2)a,b, c e

(3)a, b, c, d
(4)a, b, c d e
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(1)a,c,d, e
(2)a,b, c, e
(3)a,b,c,d
(4)a,b.c,d, e

Options:-

.1, Option ID :- 117,
« 2, Option ID :- 118,
. 3, Option ID :- 119,

. 4, Option ID :- 120,
Answer Given:- 4, Option ID : -120

qT (F9E) FA1 T 79 @=17 a7 @don F 9 == (F=Er)

Question ID:- 21

software from files or computer systems. Whoam | ?

(1) Firewall

(2) Cookies
(3) Antivirus
(4) Malware

| am a friendly software created specifically to prevent, detect, scan and remove malicious
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(1) HraTAT

(2) T
(3) TEETATH
(4) FTTIAT

Options:-

.1, Option ID :- 81,
« 2, Option ID :- 82,
. 3, Option ID :- 83,

. 4, Option ID :- 84,
Answer Given:- 3, Option ID : -83

Question ID:- 23

What is the expansion of CU ?

(1) Central Unit
(2) Control Unit
(3) Compress Unit
(4) Creative Unit
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HT I (CU) FTRE=TFTE ?

(1) &zt Tz
(2) FETeT =
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Options:-

.1, Option ID :- 89,
« 2, Option ID :- 90,
. 3, Option ID :- 91,

- 4, Option ID :- 92,
Answer Given:- 2, Option ID : -90

Question ID:- 29

| am unsolicited and unwanted email that has not received permission from a recipient to
enter his/her inbox. Whoam | ?

(1) Virus

(2) Hacker
(3) Spam
(4) Spyware
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(1) T

(2) &%
(3) ==
(4) TOTZATT

Options:-

.1, Option ID :- 113,
« 2, Option ID :- 114,
. 3, Option ID :- 115,

. 4, Option ID :- 116,
Answer Given:- 3, Option ID : -115

Question ID:- 27

| am a shortcut key which is used to undo your last action while working on MS Word. Who
aml|?

(1) Alt+ 2

(2) Ctrl + Z

(3) Ctrl + X

(4) Alt + X

Portal: live.adhyayanmantra.com Connecting Platforms

Web: www.adhyayanmantra.com 9 o o @» O

[29]


http://live.adhyayanmantra.com
http://www.adhyayanmantra.com
http://www.adhyayanmantra.com
https://t.me/AdhyayanMantra
https://www.instagram.com/adhyayanmantra/
https://www.facebook.com/adhyayanmantra
https://www.youtube.com/@adhyayanmantraconnected

o

AFREAHT

Join Now

e
LR -
A\l Adhyayan Mantra 383 A
"

Available on
Adhyayan Mantra

»Google 824 connectedApp
— Portal: live.adhyayanmantra.com

H T oTicwe it g EHT 9909 UF UF FE A w1 FI9 G997 q09 e
T FT AAE (Undo) Fa & o frar srar 2 1 § &9 g 2

(1) Alt + Z
(2) Ctrl + Z
(3) Ctrl + X
(4) Alt + X

Options:-

.1, Option ID :- 105,
« 2, Option ID :- 106,
. 3, Option ID :- 107,

- 4, Option ID :- 108,
Answer Given:- 2, Option ID : -106

Subject : TA_P4_S3_TGT

Question ID:- 37

For good teaching in the class, first of all, a teacher should be well aware

(1) of motivational techniques to be used in the class.
(2) of response which he is looking for in the class.
(3) of teaching-learning material to be used in the class.

(4) about what does he want to teach in the class.
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(1) &0 | TART 0 ATAT ATTAZOT ToHeA (501 1
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(3) =HET H TANT 0 ATA T TrA0T-ATERTH FTHUT 7
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Options:-

.1, Option ID :- 145,
« 2, Option ID :- 146,
. 3, Option ID :- 147,

. 4, Option ID :- 148,
Answer Given:- 2, Option ID : -146

Question ID:- 31

Interaction inside the classroom, in teaching-learning scenario, should generate

(1) information
(2) argument
(3) ideas

(4) debate

FEAT H Torerur-feTy 9har § 9reeairas Grar 7

(1) T=AT IeI= BIAT AT2T
(2) F-FFa% Sea= g7 Sty

(3) =TT ST v At1le

(4) TT=-FA=TE TeueT g =TT
Options:-
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.1, Option ID :- 121,
« 2, Option ID :- 122,
. 3, Option ID :- 123,

- 4, Option ID :- 124,
Answer Given:- 2, Option ID : -122

Question ID:- 35

Frustration of one’s motive always results in

(1) increased motivation
(2) personality distortion
(3) increased tension

(4) downgrading self-concept

et 7 37897 & fArweitneor ¥ ¥39 Sifaa grar/gel g

(1) == gAT AT

(2) === fAFe

(3) =T H Atz

(4) -4t 7 feEe

Options:-

.1, Option ID :- 137,
« 2, Option ID :- 138,
. 3, Option ID :- 139,

- 4, Option ID :- 140,
Answer Given:- 4, Option ID : -140

Question ID:- 34
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Sunita, aged 5, tends to repeat a particular ‘act’ over and over; then moves on to another
‘act’, which in turn she repeats again. Her behaviour indicates

(1) She is probably mentally retarded

(2) Nothing unusual, this is normal process of development

(3) She feels insecure and is suffering from tunnel vision

(4) She seems to have persistence and will power

TqeaT, Bt sy 5 39 g, vw f@fere e it ae-aw Sget g, R ag
Fie A AT 7 @erar g e e 99 off areare Sgemwr g | SHaT
=agre Z900dr g

(MMagamas =TT fRsEigs g

(2) TE FTE AMTHT AT § AT Ag T T v AT g
(3) AT AT AT FIAT & T THFT UHAT IO
(4) o w=fia S & B =g 78 € oY T afE wadt g

Options:-

.1, Option ID :- 133,
. 2, Option ID :- 134,
. 3, Option ID :- 135,

« 4, Option ID :- 136,
Answer Given:- 2, Option ID : -134

Question ID:- 32
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For developing creative thinking among the students, which type of questions should be
asked by the teacher ?

(1) Open-ended and subjective questions

(2) Multiple choice questions

(3) Short answer type questions

(4) Closed-ended guestions

Bty ¥ asareas Baa BFEa 777 29, dJeaas 5 559 gm0 T 997
g ATg T ?

(1) F=aT oF =AEFa s 7997

(2) AEgFTS g9

(3) TH-ITL THIT F T97
(4) =HrET g9

Options:-

.1, Option ID :- 125,
- 2, Option ID :- 126,
. 3, Option ID :- 127,

. 4, Option ID :- 128,
Answer Given:- 1, Option ID : -125

Question ID:- 40

Which of the following is nof a projected teaching aid ?
(1) OHP

(2) Epidiascope

(3) Blackboard

(4) Slide projector
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(1) AT =9,

(2) areraTe ==rEeft
(3) «ITHIE

(4) TATEE AL

Options:-

.1, Option ID :- 157,
. 2, Option ID :- 158,
. 3, Option ID :- 159,

. 4, Option ID :- 160,
Answer Given:- 3, Option ID : -159

Question ID:- 33

Read the following statements (a) to (f) about the nature and objectives of teaching :
(a) Teaching and learning are integrally related.
(b) There is no difference between teaching and training.

(c) Concern of all teaching is to ensure social transformation in
students.

(d) All good teaching is formal in nature.

(e) A teacher is a senior person.

(f) Teaching is a social act whereas learning is a personal act.
Select the correct options from the statements (a) to (f) that best describe the nature and

objectives of teaching.

(1) (a), (c) and (f) are correct
(2) (d), () and (f) are correct
(3) (b), (c) and (e) are correct
(4) (a), (b) and (d) are correct
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(e) = foregr=F afes = AT 2 |

(f) Toreawr u= ATHTISS AT g S0 ATENTH U = a9ra AT
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g
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(1) (a). (c) 4 (f) el &
(2) (d), (e) 7= (f) 7L &

(3) (b), (c) = (e) FET &
(4) (a). (b) 7= (d) 7ET &

Options:-

.1, Option ID :- 129,
« 2, Option ID :- 130,
. 3, Option ID :- 131,

- 4, Option ID :- 132,
Answer Given:- 4, Option ID : -132

THFI=T (a) T () F =% F A@Gr Fhod F1 FI7 Fitery 51 f9reror T oF5ita uF

Question ID:- 39
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During curriculum development, the evaluation used to improve the content learning is
called

(1) formative evaluation
(2) summative evaluation
(3) diagnostic evaluation

(4) critical evaluation

Trea=a1 Awe § Braaasg afams o a9 53T Gar S o
qoT#T Hgardr g

(1) =TT g

(2) FFTATHT oA T

(3) ==TiA oAt

(4) ATATHATHTF AT

Options:-

.1, Option ID :- 153,
« 2, Option ID :- 154,
. 3, Option ID :- 155,

- 4, Option ID :- 156,
Answer Given:- 1, Option ID : -153

Question ID:- 38

Which one of the following is nof a nature of "teaching” profession ?

(1) Learner oriented
(2) Helping in being obedient to the Governmenits
(3) Dynamism

(4) Humane
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(1) ST TH=FAT ITET
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Options:-

.1, Option ID :- 149,
« 2, Option ID :- 150,
« 3, Option ID :- 151,

- 4, Option ID :- 152,
Answer Given:- 2, Option ID : -150

=1 5 & F19-97 UF “foraror” ==y it uF IFiT dgi g ?

Question ID:- 36

In classrooms, learning proceeds most effectively if there is
Select the correct option to fill in the blank.

(1) exclusive motivation

(2) rapid feedback

(3) frequent questioning

(4) immediate recapitulation

by the teacher.
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|

= w79 T 997 2 Tl (Ao 1 FI9 Kl o0 |

(1) 797 sfFaTor BT SEr g

(2) sfter gfagfE Fir ST 2

(3) AFHTT I U= I 2

(4) ATenTiersh AT Far Sar g

Options:-

.1, Option ID :- 141,
. 2, Option ID :- 142,
. 3, Option ID :- 143,

. 4, Option ID :- 144,
Answer Given:- 2, Option ID : -142

Subject : Maths_Q41-120_P5_OPT_S3_TGT

Question ID:- 204

0.3555. . . when expressed in the form % is

(). 31
2000
(2} .35
99
(3) 16
45
(4) 24
85
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0.3555 wg%mﬁﬁm AT ETET S, B

711
(1 2000

(2) 2

16
(3) 4o
(4) 22

Options:-

.1, Option ID :- 813,
. 2, Option ID :- 814,
. 3, Option ID :- 815,

« 4, Option ID :- 816,
Answer Given:- 1, Option ID : -813

Question ID:- 255

The radii of the top and bottom of a bucket of slant height 45 cm are 28 cm and 7 cm
respectively. The curved surface area of the bucket is

(1) 4950 cm”
(2) 4951 em”
(3) 4952 cm”
(4) 4953 cm”

T ATeal i TAF SHTE 45 om 2 9T F9T F 1= F FArRe T i Heard 28
cm T9T 7 cm &, ATeet 1 956 T30 &34 &

(1) 4950 cm”
(2) 4951 cm”
(3)4952 cm”
(4) 4953 cm”

Options:-
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.1, Option ID :- 1017,
« 2, Option ID :- 1018,
. 3, Option ID :- 1019,

« 4, Option ID :- 1020,
Answer Given:- 1, Option ID : -1017

Question ID:- 217

Ifin A ABC and A DEF, % = %, then they will be similar when
(1) «<B= <E
(2) «B= <D
(3) «A= <D
(4) A= «F

af% AABC #i7 ADEF & 22 = 2¢ & & ¥ qoe=7 g7 o7
(1) 2B= oE

{2y <B~ =0

(g) =hr 4B

(4) <A= <F

Options:-

.1, Option ID :- 865,

« 2, Option ID :- 866,

. 3, Option ID :- 867,

. 4, Option ID :- 868,
Answer Given:- 2, Option ID : -866

Question ID:- 237
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A solution is to be kept between 40° C and 45 C. If the conversion formula is F = % C + 32, the
range of temperature in degrees Fahrenheit is

(1) 100 < x < 180

(2)112° < x < 180

(3)104 < x < 113’

(4)110" < x < 120

T HTT FT 40 C FAT 45 C F AT v F | A% wAEEw AT F= o C + 32 2,
T °F § 919 =1 ufET g

(1)100 <x < 180

(2)112 <x < 180

(3)104 <x < 113"

(4)110 <x <120

Options:-

.1, Option ID :- 945,

. 2, Option ID :- 946,

. 3, Option ID :- 947,

« 4, Option ID :- 948,
Answer Given:- 3, Option ID : -947

Question ID:- 259

IfA(-5,7), B (4,6 -5), C(-1,-6) and D (4, 5) are the vertices of a quadrilateral ABCD, then
area of quadrilateral ABCD is

(1) 72 sq. units

(2) 38 sq. units

(3) 53 sq. units

(4) 66 sq. units
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T =T AT FT HATA &

(1) 72 =37 91515
(2) 38 T HTFF
(3) 53 =T A==
(4) 66 =T qT=F

Options:-

.1, Option ID :- 1033,
. 2, Option ID :- 1034,
« 3, Option ID :- 1035,

- 4, Option ID :- 1036,
Answer Given:- 1, Option ID : -1033

afz A (-5, 7), B (4, -5), C (-1, —6) 3T D (4, 5) 7= IJ4st ABCD = sfi g,

Question ID:- 232
Ifinan A.P., S, =n (2n+1), then t;z is

(1) 56
(2) 63
(3)67
(4) 71

THITT F2TH, Sp=n (2n+1), AT t1g FTHIT &

(1) 56
(2)63
(3)67
(4)71
Options:-
.1, Option ID :- 925,
« 2, Option ID :- 926,
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. 3, Option ID :- 927,

- 4, Option ID :- 928,
Answer Given:- Not Attempted

Question ID:- 246

dx
jmequals
(Ytanx +secx +c
(2)tanx —sec x+ ¢
(3) sec’ X —cosec X +cC

(4)sec x—sec xtanx +c

1T+ sinx
(1tanx + sec x+c
(2)tanx —sec x+c
2 2
(3)sec” x —cosec” x+c
(4)secx —secxtanx +c
Options:-
.1, Option ID :- 981,
« 2, Option ID :- 982,

« 3, Option ID :- 983,

- 4, Option ID :- 984,
Answer Given:- Not Attempted

Question ID:- 214
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2x—-y w 8]

(H1
(2)2
(3)3
(4)4

Options:-

.1, Option ID :- 853,
« 2, Option ID :- 854,
. 3, Option ID :- 855,

. 4, Option ID :- 856,
Answer Given:- 2, Option ID : -854

If[ Y= ] = [ =l 2 ], then x+y equals
2x—y w 0 5

(11

2)2

(3)3

(4)4

Il‘ﬁ'[x_y Z]=(_1 :]Tﬁx+yiﬂ'ﬂ'ﬁ':€

Question ID:- 244

(14,7
(2)7, 4
(3)4, 4
(4)1, 1

Two finite sets have m and n elements. The number of subsets of the first setis 112 more than
that of the second set. The values of m and n are respectively
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2T HITHT FH==41 H m 49T n 9550 g | T8 99==4 & IUaH==4 a7 =A%
F IUAL=AAT T 112 ATTF E | m TIT n &7 1T FHA: 2

(1)4,7

(27,4

(3)4. 4

41,1

Options:-

.1, Option ID :- 973,
« 2, Option ID :- 974,
. 3, Option ID :- 975,

- 4, Option ID :- 976,
Answer Given:- Not Attempted

Question ID:- 236

If x is a real number and |x| < 3, then
(1)x=z3

(2) -3<x<3

(3)x=-3

(4) -3=x=s3

T2 x T ATEA AT AT § TAT Ix| <3 8, AT
(1))(23
(2) -3<x<3

(3))(5—3
(4) -3=x=s3

Options:-
.1, Option ID :- 941,
« 2, Option ID :- 942,
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« 3, Option ID :- 943,

. 4, Option ID :- 944,
Answer Given:- 2, Option ID : -942

Question ID:- 271

If mode = x (median) —y (mean) then

(x=2,y=3
(2yx=3,y=2
(3)yx=4,y=3
dyx=3,y=4

I Igor® = x (ATETF) — y (A12T) 7

(MMx=2,y=3

(2)x=3,y=2

(3)x=4,y=3

4)x=3,y=4
Options:-

.1, Option ID :- 1081,
« 2, Option ID :- 1082,
. 3, Option ID :- 1083,

- 4, Option ID :- 1084,
Answer Given:- 2, Option ID : -1082

Question ID:- 263
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6 1
If 6x = sec & and o tan €, then 4(x2— F] equals

(L
36

21
9

(31
4

(4) 1

7% 6x = sec o T 2= tan e &, AT (¢~ 5| TS
(1) —

(25

(3) 5

()1

Options:-

.1, Option ID :- 1049,
« 2, Option ID :- 1050,
- 3, Option ID :- 1051,

- 4, Option ID :- 1052,
Answer Given:- 2, Option ID : -1050

Question ID:- 265
If sin 3A = cos (A — 109), and 3A is acute, then - A equals
(1)20°
(2)25°
(3) 35°
(4)45°
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T2 sin 3A = cos (A — 10°) T4T 3A UTF A (0 g, 91 cAFTHT 2
(1) 20°
(2) 25°
(3) 35°
(4)435°
Options:-
.1, Option ID :- 1057,
. 2, Option ID :- 1058,
« 3, Option ID :- 1059,

- 4, Option ID :- 1060,
Answer Given:- Not Attempted

Question ID:- 213

1 1
If a, B are the zeroes of the polynomial 5x*—-7x + 1, then — + — equals :

B
(M1
(2) 3
(3)5
47

TS = 5°-7x + 1 T IF a, Bﬁ?ﬁé+
(1)1
(2)3
(3)5
(4)7

™| =

Options:-

.1, Option ID :- 849,
« 2, Option ID :- 850,
. 3, Option ID :- 851,
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- 4, Option ID :- 852,
Answer Given:- 4, Option ID : -852

Question ID:- 219
How many linear equations in x and y can be satisfied byx=2, y=37?
(1) Only one
(2) Two
(3) Three
(4) Infinitely many

x, y H Thae Y aH =0 x = 2, y = 3 5 At i g ?
(1) =T TH
(2=t
(3) =
(4) AT
Options:-
.1, Option ID :- 873,
. 2, Option ID :- 874,
« 3, Option ID :- 875,

. 4, Option ID :- 876,
Answer Given:- 1, Option ID : -873

Question ID:- 248

d?y dy
sk ® 3 Simeb PR -l
If y = 3e?* + 2e%%, then e de + By equals

(1) e + ¥

(2) B(3e** + 26*%)
(3)1

(4)0
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= % a — dzy iﬁf_ =
I y=3e +2e‘%:,ade2—5dx+6yWQ

(1) e?* + g3
(2) 6(3e?* + 2e%%)

(3)1
(4)0

Options:-

.1, Option ID :- 989,
. 2, Option ID :- 990,
. 3, Option ID :- 991,

. 4, Option ID :- 992,
Answer Given:- Not Attempted

Question ID:- 267

If the angle of elevation of the top of a tower from two points at distance a and b from the foot
are complementary, the height of the tower is

(1)va +b
(2)va—b
(3) v/ ab

(4) ‘/E
b

21 fargelt & o7 Hi F Tz g 7 a 74T b TS A T U £, FA F R
AT I T 2 | HEw A ST

(s s

(@)= 5

(3)/ab

Options:-
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.1, Option ID :- 1065,
« 2, Option ID :- 1066,
. 3, Option ID :- 1067,

« 4, Option ID :- 1068,
Answer Given:- Not Attempted

Question ID:- 238

The solution of system of inequalities
IX-7<5+xand11-5x =1is
(1)2=<=x<86

(2)2 =x=6

(3)2 = x=<6

(4) All values of x

AR F TR IX -7 <5+xHAT11-5x = 1FTEA 2
(1)2<x<6
(2)2 =x =6
(3)2 = x<6

(4) x = T g7

Options:-

.1, Option ID :- 949,
« 2, Option ID :- 950,
« 3, Option ID :- 951,

- 4, Option ID :- 952,
Answer Given:- 3, Option ID : -951

Question ID:- 223
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The pair of equations 3" = 81 and 81" = 9 has the solution :

(1]x= 7 21
(2) 5w
(3), =

(@)x=3y =

T g 3 =81 81 =9 FEA T

(Nx=1,y=21
(Dx=2,y=1
FDx=Ly=2
(4)x=3,y = 1

Options:-

.1, Option ID :- 889,
« 2, Option ID :- 890,
. 3, Option ID :- 891,

. 4, Option ID :- 892,
Answer Given:- 2, Option ID : -890

Question ID:- 247

Ify =5 cos x— 3 sin x, then % +vy equals

(1) 8 sin x cos x
(2) 3 sin x cos x
(3)1
(4)0
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; d?
Hﬁy=5cosx—33mx,ﬁ"rd—;+yw%

(1) 8 sin x cos x
(2) 3 sin x cos X
(3)1
(4)0

Options:-

.1, Option ID :- 985,
- 2, Option ID :- 986,
. 3, Option ID :- 987,

« 4, Option ID :- 988,
Answer Given:- Not Attempted

Question ID:- 260
The perimeter of a triangle with vertices (0, 4), (0, 0) and (3, 0) is
(1
(2) 10
(3)12
4)7+./5

Brgst == ofiT (0, 4), (0, 0) 3= (3, 0) g, FTafFaTa 2
(1)5
(2)10
(3)12
(4) 7+
Options:-
.1, Option ID :- 1037,
- 2, Option ID :- 1038,
- 3, Option ID :- 1039,
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- 4, Option ID :- 1040,
Answer Given:- 3, Option ID : -1039

Question ID:- 233

1 1- 1-2

The next term of the A.P.— —p, P is
P P P

(1

)
2)-
3)
(4)

P
-p

—

—
—

1.
P

1 1—p 1-2p

Hm?r”srsﬁ T 5 FTHAIMAT IS g

(Mp

(2)-p

(3)1

4) L
5

Options:-

.1, Option ID :- 929,
« 2, Option ID :- 930,
. 3, Option ID :- 931,

. 4, Option ID :- 932,
Answer Given:- 4, Option ID : -932

Question ID:- 215
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. 3 1),
The inverse of(? 5Jls

)

[3 1)%3@#%%

7B
(1) ( 5 —1 J
-7 3
2) ['—5 1 ]
N T
(3) 1( 5 —1)
8\ -7 3
(4) 8( e ]
-7 3
Options:-
.1, Option ID :- 857,
« 2, Option ID :- 858,

. 3, Option ID :- 859,

- 4, Option ID :- 860,
Answer Given:- 3, Option ID : -859

Question ID:- 280
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In a box containing 100 eggs, 10 are defective. The probability that out of a sample of 5 eggs,
none is defective, is

()1

o fe=a & 100 #ve £ T5ad 10 @08 |<re g | 9i= dve F° W0 T T FE
(1)
(2) —
3 1)5
( )(m
(4)[%)5
Options:-
.1, Option ID :- 1117,
« 2, Option ID :- 1118,

. 3, Option ID :- 1119,

« 4, Option ID :- 1120,
Answer Given:- 3, Option ID : -1119

Question ID:- 207
For what value of 'K’ the number 3572K4 is divisible by 9 ?
(1)3
(2)5
(3)6
(4)9
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‘K = T3 g1+ = form, |@wam 3572K4, 9 U7 9E fAaraTiera gt g ?
(1)3
(2)5
(3)6
(4)9
Options:-
.1, Option ID :- 825,
. 2, Option ID :- 826,
. 3, Option ID :- 827,

. 4, Option ID :- 828,
Answer Given:- 3, Option ID : -827

Question ID:- 210

If one of the zeroes of the cubic polynomial ax® + bx® + cx + d is zero, then the product of other
two zeroes is :

(1), 8

a
(2) <
a
(3)0
4 _b
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T T gUF ax® + bx® +ox +d FT TF A% 0 T, 91 AL I A1 HT TOFTHA

(-=<
(2 <
(3)°
4) -2

Options:-

.1, Option ID :- 837,
« 2, Option ID :- 838,
. 3, Option ID :- 839,

. 4, Option ID :- 840,
Answer Given:- 1, Option ID : -837

Question ID:- 252

The sum of length, breadth and height of a cuboid is 19 cm. If the length of the diagonal is 13
cm, the surface area of the cuboid is

(1)96 cm

(2) 192 cm”
(3) 236 em”
(4) 361 cm®

TF TATT T TS, FSTE AT SF=H1% w0 A0T 19 cm § | Tt =979 F w01 i
@Mz 13 cm 2, a1 F4T9 FT T TS50 ST%FA 2

(1) 96 cm”

(2) 192 cm”
(3)236 cm”
(4)361 cm”
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Options:-

.1, Option ID :- 1005,
- 2, Option ID :- 1006,
- 3, Option ID :- 1007,

- 4, Option ID :- 1008,
Answer Given:- 2, Option ID : -1006

Question ID:- 212

Zeroes of the quadratic polynomial 2x* + 7x-15 are

(1)3.5

ATt TgTE 23 + 7x-15 F 7IF ©
(1) 3,5

(2) %5

(3)—%-5

4) %,-5

Options:-

.1, Option ID :- 845,
. 2, Option ID :- 846,
. 3, Option ID :- 847,

. 4, Option ID :- 848,
Answer Given:- 4, Option ID : -848

Question ID:- 228
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When Anu is asked her age, she replied, ‘If you subtract 21 times my age from the square of
my age, theresultis 72. ' Her age is

(1) 3 years

(2) 12 years
(3) 24 years
(4) 34 years

TE A T IEET A TET AT, 97 I gl ATE T A 3 a9 | HI A w6 21
IO 2T 9, F7 72 9Td 29T | IH0T S 2

(1337

(2)12 39

(3)24 =T

(4)34 =7

Options:-

.1, Option ID :- 909,

« 2, Option ID :- 910,

. 3, Option ID :- 911,

. 4, Option ID :- 912,
Answer Given:- 3, Option ID : -911

Question ID:- 266

cos 40° cosec 50°
tan 18° tan 40° tan 50° tan 60° tan 72°

(m_1_

J3
@3
(3)2/3
(4) 1

equals
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cos 40° cosec 50°
tan 18° tan 40° tan 50° tan 60° tan 72°

FT AT &

(1) %
(2)V3
(3)2V3
(4)1

Options:-

.1, Option ID :- 1061,
« 2, Option ID :- 1062,
- 3, Option ID :- 1063,

- 4, Option ID :- 1064,
Answer Given:- Not Attempted

Question ID:- 239

If p is a prime number such that p2 — 8p —65= 0, then the smallest value of pis
(1)13
(2) 14
(3)17
(4)19

7% p UF warsT H@eT 2 o p® — 8p — 65 > 0, AT p FT AT A
(113
(2) 14
(3)17
(4)19
Options:-

.1, Option ID :- 953,
. 2, Option ID :- 954,

Portal: live.adhyayanmantra.com Connecting Platforms [62]

Web: www.adhyayanmantra.com ﬁ 0 O @o 0


http://www.adhyayanmantra.com
https://t.me/AdhyayanMantra

Available on Join Now

Dy hi
ta #M Adhyayan Mantra 3Heade 3
d

S

E Available Platform
Rohit Vaidwan Notes

»Available Y Adhyayan Mantra
el ConnectedApp

— Portal: live.adhyayanmantra.com

. 3, Option ID :- 955,

. 4, Option ID :- 956,
Answer Given:- 3, Option ID : -955

Question ID:- 273

The probability that a leap year selected at random has 53 Tuesdays, is
[y
7

(212
=

(3 2
7

(@ _1_
183

T AT AT ATZ=S AT FAT AT | 39 a9 F 53 FIAATE gief il ITAHAT &
1

(1) =
2

(22
3

()=

(4)

Options:-

.1, Option ID :- 1089,
« 2, Option ID :- 1090,
. 3, Option ID :- 1091,

- 4, Option ID :- 1092,
Answer Given:- Not Attempted

Question ID:- 222
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The pair of equations x + 2y +5=0and 3x+ 8y —-1 =0 has

{1} A unigue solution
(2) Exactly two solutions
(3) No solution

(4) Infinitely many solutions

T T F A X+ 2y +5=0T9T 3x + 6y — 1 = 0 &0

(1) TEFAT T
(2)TATTITTA &
(3)FTE, T T
(4) T TTE

Options:-

.1, Option ID :- 885,

- 2, Option ID :- 886,

. 3, Option ID :- 887,

. 4, Option ID :- 888,
Answer Given:- 3, Option ID : -887

Question ID:- 209
If the zeroes of the quadratic polynomial ax® + bx + ¢ are equal, then

(1) a and c have opposite sign
(2) a and c have the same sign
{3} b and c have opposite sign
(4) b and c have same sign
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Tt T3HTT FgTF ax® + bx + ¢ T 9[FIF TEET §, A7
(MasdizcATfaf=m=T 32
QasdmTcuwgI =FETFE
@)b I cATFa =52
@baFATcuwgI=TEFE

Options:-

.1, Option ID :- 833,

« 2, Option ID :- 834,

. 3, Option ID :- 835,

. 4, Option ID :- 836,
Answer Given:- 2, Option ID : -834

Question ID:- 242

Consider the recurrence relation a; =4, a, = 3n + a,.1. The value of apis

(1) 270
(2) 272
(3) 274
(4) 275

Wﬁ?ﬂa1=4, an=5n+an_—;ﬁﬁ?—r§'§,am W"TFI'%

(1) 270
(2)272
(3)274
(4)275
Options:-
.1, Option ID :- 965,
« 2, Option ID :- 966,
. 3, Option ID :- 967,
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- 4, Option ID :- 968,
Answer Given:- Not Attempted

Question ID:- 245

_ 4x dy
Ify= 5 ,then pree equals

(1) _20
(x + 5)*
(2) 25
(x + 5)*

(3) x*5
4dx -5

(4)4

ARy =" A L

x+5" dx @

1 20
( ) (x + 5y

(x + 5

x+5
(3) 4x -5

(4)4

Options:-

.1, Option ID :- 977,
- 2, Option ID :- 978,
. 3, Option ID :- 979,

. 4, Option ID :- 980,
Answer Given:- Not Attempted

Question ID:- 240
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If there are 12 persons in a party and if each of them shake hands with each other, then
number of handshakes is

(1) 60

(2) 66

(3)72

(4) 84

T2 UF TTET H 12 ==k g AT I9H g% A<k ATOH | g0 Haarn g, a7 91 #5
T sz gre o T ?

(1) 60

(2) 66

(3)72

(4) 84

Options:-

.1, Option ID :- 957,
« 2, Option ID :- 958,
. 3, Option ID :- 959,

. 4, Option ID :- 960,
Answer Given:- 2, Option ID : -958

Question ID:- 216

cos o —sina .
IfA=[ : ]andA+A'=I,then the value of a is
‘SiIha cosd
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i an(S2E ) o s e, e

()&
25
(3)
(4) o=

Options:-

.1, Option ID :- 861,
« 2, Option ID :- 862,
« 3, Option ID :- 863,

. 4, Option ID :- 864,
Answer Given:- Not Attempted

Question ID:- 211

If /2 and —./2 are two of the zeroes of the polynomial,
x* + 2x% —17x%2-4x + 30, the other zeroes are :

(1)5,-3
(2)-5,-3
(3)-5,3
(4)3, 3

TiE FAET= x* + 23 - 17x% —4x + 30

F I FIF V2 TAT -2 &, AT AT qTF 3 -
(1)5,-3

(2)-5, -3

(3)-5,3

(4)3, 3

Options:-
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.1, Option ID :- 841,
. 2, Option ID :- 842,
. 3, Option ID :- 843,

. 4, Option ID :- 844,
Answer Given:- 3, Option ID : -843

Question ID:- 224
The graphs of the equations 2x + 3y = 2 and x - 2y = 8 are two lines which are

(1) Coincident
(2) Parallel
(3) Intersecting at exactly one point

(4) Perpendicular to each other

THERIO 2x + 3y = 2 9T X — 2y = 8 T UTH =7 TG0 &, 51 &6
(1) HaTeT 5
(2) FHTAT B
(3) F=er U favg 97 FreAr 2
(4) TF THT I TE FATAT 2
Options:-
.1, Option ID :- 893,
. 2, Option ID :- 894,
. 3, Option ID :- 895,

. 4, Option ID :- 896,
Answer Given:- 3, Option ID : -895

Question ID:- 225
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A three-wheeler charges ¥ 15 for the first kilometre and ¥ 8 per km subsequently. For a
distance of x km, ¥ y are paid. The linear eguation representing this information is

(1)8x—-y=15
(2)y—-8x=15
(N8Bx—y+7=0
(4)8x—-y=7

T FT-T8AT ATed AT s Tgd Hardies 1 fBFar T 15 997 STt 9
e T I8 aar 2 | x FreHeEr M T ag Fg o Iy R 17 | ==
T T T g T FHHI S

(1)8x—-y =15
(2)y—8x=15
(3)8x—-y+7=0
(4)8x—-y=7
Options:-

.1, Option ID :- 897,
« 2, Option ID :- 898,
. 3, Option ID :- 899,

- 4, Option ID :- 900,
Answer Given:- 2, Option ID : -898

Question ID:- 276

If eight coins are tossed together, then the probability of getting exactly 3 heads is
(1) 2
32
(2) 5
32
(3) L
32
4 _ 1
256
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Tt= 8 9t =1 U= AT TYTAT ST 8, °1 3146 3 == &+ =it gratwdar g
3
ab e
5
(2)
=
(3) 55
1
(4) oo
Options:-
.1, Option ID :- 1101,
. 2, Option ID :- 1102,

« 3, Option ID :- 1103,

- 4, Option ID :- 1104,
Answer Given:- Not Attempted

Question ID:- 264

asin® +bcosB

Iftan B = %, then equals

asin® - bcosBH
(1) & - b*
a® + b®
(2) &
b?
(3) & +b°
a2 - b2
(4) 4ab
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a asinB +bcos 8
If2 tan 6=, A1 FLETE

b’ asin® - bcos g8

S
2
(2) =
(3) =*=
(4)4ab

Options:-

.1, Option ID :- 1053,
« 2, Option ID :- 1054,
« 3, Option ID :- 1055,

« 4, Option ID :- 1056,
Answer Given:- 3, Option ID : -1055

Question ID:- 275
7 17
If P(ANB) =30 and P(B) = 20" then P(A/B) equals
(1) 14
17

21
8

(3) 7
8

(4) 17
20
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af2 P(ANB) =5 3T P(B) = 5o, T P(A/B) FT AT &

2
(=

(2)+

(3) L

)L

Options:-

.1, Option ID :- 1097,
« 2, Option ID :- 1098,
« 3, Option ID :- 1099,

« 4, Option ID :- 1100,
Answer Given:- Not Attempted

Question ID:- 230

Under what condition the roots of egquations ax” + 2bx + ¢ = 0 and bx? - 2yacx+b=0 are
simultaneously real ?

(1) b*>ac
(2) b* <ac
(3) b* =ac
(4) b*~4ac =0

e Rt F a0t ax” + 2bx + ¢ = 0 TIT bx2- 2/acx+b=0 ¥ T T AT
ATEATAE BT 2

(1)b2>ac

(2)b2==ar.:

(3)b2=ar.:

(4)b2—4ac=0

Options:-
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.1, Option ID :- 917,
« 2, Option ID :- 918,
. 3, Option ID :- 919,

. 4, Option ID :- 920,
Answer Given:- 3, Option ID : -919

Question ID:- 241

The probability that in a family of 4 members, only 2 members have birthdays on Sunday is
(m1
2

21

3
(3) 216

343
(4) 2

7

4 FIEAL 6 IATE § FHger T ATEAT KT SeF 2T (9812 31 gi ol I =Har g
(M

2

1
23

216
) 3

4) 2

Options:-

.1, Option ID :- 961,
« 2, Option ID :- 962,
. 3, Option ID :- 963,

« 4, Option ID :- 964,
Answer Given:- Not Attempted

Question ID:- 258
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If the points A (2, 9), B ( a, 5) and C (5, 5) are the vertices of a A ABC, right angled at B, then
value ofais

(15
(2)4
(3)2
(4)1

AABC % ofi7 fa=g, A (2, 9), B (a, 5) #iT C (5, 5) =9 91« g = =gt ABC,
B ITA#ARITaATATE | ‘@ FTHAH T
(1S
(2)4
(3)2
(4)1

Options:-

.1, Option ID :- 1029,
. 2, Option ID :- 1030,
« 3, Option ID :- 1031,

. 4, Option ID :- 1032,
Answer Given:- 3, Option ID : -1031

Question ID:- 208

The difference between a five-digit number and the number obtained by reversing its digits is
always divisible by

(N2
(2)4
(3)6
(4)9
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R I o e T R R 2 O = e s e s B o o o e e B s s R B G 1 B s R A
AT I AT T, A @A g
(M2
(2)4
(3)6
4)9
Options:-
.1, Option ID :- 829,
« 2, Option ID :- 830,
. 3, Option ID :- 831,

- 4, Option ID :- 832,
Answer Given:- 4, Option ID : -832

Question ID:- 272

For a symmetical frequency distribution, we have

{1) Mean < Mode < Median
(2) Mean > Mode > Median
(3) Mean = Mode = Median

1
(4) Mode =3 (Mean + Median)

THAT AT dr §29 H, 2
(1) |HTET < FAgAF < HIETF
(2) HTET > FAgAF > HIEAF
(3) ATET = Ager = ATEAT
(4) arger = (FATE + FTT)

Options:-
.1, Option ID :- 1085,
« 2, Option ID :- 1086,
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. 3, Option ID :- 1087,

. 4, Option ID :- 1088,
Answer Given:- Not Attempted

Question ID:- 268

The mean of first 5 prime numbers of 2 digits is
(1)5.6

(2)7.8

(3)12.6

(4)16.6

=T &1 =T Tl 5 TATTST HEATHT T J12T &
(1)5.6

(2)7.8

(3)12.6

(4)16.6

Options:-

.1, Option ID :- 1069,

. 2, Option ID :- 1070,

. 3, Option ID :- 1071,

. 4, Option ID :- 1072,
Answer Given:- 4, Option ID : -1072

Question ID:- 254

A chord of a circle of radius 10 cm subtends a right angle at the centre. The area of the minor
segment (given T =3.14) is

(1)325cm”

(2) 28.5 cm”

(3)30.5cm”

(4)345cm’
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10 cm =3t aTer U= I il Fls SAT Frg 92 TF TGHH07 ATRT Hdr g | J9d
g gade g (BAar g © = 3.14)

(1)32.5 cm”

(2)28.5 cm”

(3)30.5 cm”

(4)34.5 cm®

Options:-

.1, Option ID :- 1013,
« 2, Option ID :- 1014,
- 3, Option ID :- 1015,

. 4, Option ID :- 1016,
Answer Given:- Not Attempted

Question ID:- 205

3% + 3% 4+ 3% + 3% is divisible by

(1) 11
(2)17
(3)25
(4) 30

325+326+327+328Wg
()11 %
()17 &
(3)25 %
(4)30 %

Options:-
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.1, Option ID :- 817,
. 2, Option ID :- 818,
. 3, Option ID :- 819,

. 4, Option ID :- 820,
Answer Given:- 4, Option ID : -820

Question ID:- 234
Which term of the A.P. 27, 22, 17,
(1)10"
(2)e"
(3)8"
@7"

_is the first negative term 7

HHIAT HET 27, 22, 17, _ _ FT HIA-A7 T2, TgAT F_OITHT % 2907 ?
(1) 10"
(3) 8th

Options:-

.1, Option ID :- 933,
« 2, Option ID :- 934,
. 3, Option ID :- 935,

. 4, Option ID :- 936,
Answer Given:- 4, Option ID : -936

Question ID:- 218
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If a linear equation has solutions (=3, 3}, (0, 0) and (3, =3), then it is of the form
(x+y=0

(2yx-y=0

(3)x—-2y=0

(4)-2x+y=0

af2 u= TEaw T T F g 8 (=3, 3), (0, 0) F9T (3, =3), AT TH THIHTOT FT
(Nx+y=0
(2)x—-y=0
(3)x—-—2y=0
4)2x+y=0
Options:-
.1, Option ID :- 869,
« 2, Option ID :- 870,
. 3, Option ID :- 871,

- 4, Option ID :- 872,
Answer Given:- 1, Option ID : -869

Question ID:- 203

If /3 =1.732.., then % equals
(1)1.732 . ..
(2)3.732 . ..
(3)3.464 . . .
(4)5.732 . ..
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e = 2+qj§
af% /3=1732. 97 /== FemET g

2-/3

(11732 ...

(2)3.732 . ..

(3)3.464 . . .

(4)5.732 . . .

Options:-

.1, Option ID :- 809,

« 2, Option ID :- 810,

. 3, Option ID :- 811,

. 4, Option ID :- 812,
Answer Given:- 2, Option ID : -810

Question ID:- 262
The value of tan 1° tan 2% tan 3° .... tan 89%is

(1)0
(2) 1

@ 1y3
(43

tan 1° tan 2° tan 3° .... tan 89° FT AT &
(1O
(2)1
(3) V3
(4) V3
Options:-
.1, Option ID :- 1045,
« 2, Option ID :- 1046,
. 3, Option ID :- 1047,
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« 4, Option ID :- 1048,
Answer Given:- 2, Option ID : -1046

Question ID:- 277

pack of 52 cards. The mean of the number of kings is
My
221

2) 32
221

(8). 188
221

(4) 34
221

=T H=AT T HIET &
1
e

32
2

188
&)

34
-

Options:-

.1, Option ID :- 1105,
« 2, Option ID :- 1106,
. 3, Option ID :- 1107,

. 4, Option ID :- 1108,
Answer Given:- Not Attempted

Two cards are drawn simultaneously (or successively without replacement) from a well shuffled

52 TH1 HT TGN THIT T Tel 5 Mgl J o =1 09 TF 7O e a9 g | Fr=Eeng

Question ID:- 253
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The surface areas of two spheres are in the ratio of 16 : 9. The ratio of their volumes is
(1)4:3

(2)16: 9

(3)64: 27

(4)32: 27

T ATTAT = TSI ARl HT AGITT 16 - 9 g | 7% ATHAA H AqATT &
(1)4 : 3

(2)16: 9
(3)64 : 27
(4)32 : 27

Options:-

.1, Option ID :- 1009,
« 2, Option ID :- 1010,
. 3, Option ID :- 1011,

« 4, Option ID :- 1012,
Answer Given:- 3, Option ID : -1011

Question ID:- 231

5
A notebook has 20 pages. A sheet got torn and the average of the remaning pages is 105.

The pages which got torn are
(1)15, 18

(2)11,12

(3)7,8

(4)3, 4
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T FAT F 20 T55 g, TF ofic T T2 T4T 909 9897 FT AET 10% g | T I31 At
AT
(1)15, 16
£2)1AL12
(3)7,8
(4)3,4
Options:-
.1, Option ID :- 921,
« 2, Option ID :- 922,
« 3, Option ID :- 923,

. 4, Option ID :- 924,
Answer Given:- Not Attempted

Question ID:- 279

A bag contains 4 blue balls, 6 green balls and some red balls. If the probability of getting a blue
2 1

ballis 3 and the probability of getting a green ball is 3 the number of red balls is

(18
(2)8
(3)10
(4)12

o N » 2

TF IT | 4 T, 6 T 9T Ty 11 7= 2 | TfF AT % ¥ ariaFar 5 g 797
e 1 ¥ S TR -

T IF T ATEEAT 5 g, T ATer AET A e g

(1)6
(2)8
(3)10
(4)12
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Options:-

.1, Option ID :- 1113,
- 2, Option ID :- 1114,
. 3, Option ID :- 1115,

- 4, Option ID :- 1116,
Answer Given:- Not Attempted

Question ID:- 227

Which of the following equations has the sum of its roots as 3 ?
(1) 2x*-3x-6=0

(2) =x2 +3x~-3=0

(3) 3x*-3x-7=0

(4) ﬁxg—%x +1=0

=T werTor 5 | & aH i =6or & qot FTANT 3 8 2
(1) 2¢=3x-6=0
(2) =% +3x-3=0
(3) 3E-3x-7=0

3
J2

x+1=0

(4) v2x2-

Options:-

.1, Option ID :- 905,
« 2, Option ID :- 906,
. 3, Option ID :- 907,

. 4, Option ID :- 908,
Answer Given:- 2, Option ID : -906

Question ID:- 256
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If the coordinates of one end of a diameter of a cirlce are (2, 3) and the coordinates of the
centre are (-2, 5), then coordinates of the other end of the diameter are

(1) (6,-7)
(2) (-6, 7)
(3) (4. 2)
(4) (5, 3)

T2 T g H U AT UH Aed faeg B L9 (2, 8) & qAT Fex o H=enw
(2, 5) &, a1 =ATH & AL A+ fvg = Maeni=® g

(1)(6.-7)
(2)(-6.7)
(3)(4.2)
4) (3. 3)

Options:-

.1, Option ID :- 1021,
. 2, Option ID :- 1022,
« 3, Option ID :- 1023,

- 4, Option ID :- 1024,
Answer Given:- 2, Option ID : -1022

Question ID:- 257
If the points A (1, 2), B (0, 0) and C (a, b) are collinear, then
(1)a=b
(2ya=2b
(3)2a=b
4)a+b=0
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afz favg A (1, 2), B (0, 0) 3= C (a, b) = g, T
(Ha=b
(2)a=2b
(3)2a=b
4a+b=0
Options:-
.1, Option ID :- 1025,
- 2, Option ID :- 1026,
« 3, Option ID :- 1027,

- 4, Option ID :- 1028,
Answer Given:- 3, Option ID : -1027

Question ID:- 235

five terms to the sum of the first 21 terms is
(1)3:25
(2)4 : 35
(3)5:49
(4)6 :53

T T=1 % AT AT TIH 21921 5 T AT AT 2 [T

(1)3:25
(2)4 : 35
(3)5: 49
(4)6 : 53

Options:-

.1, Option ID :- 937,

The ratio of the 11" term to the 18" term of an A.P. is 2 : 3. Then the ratio of the sum of the first

T FHIET ST ® 113 9% 99T 18 U= H 2 : 3 T AT ¢ | THD AL F IIAT
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- 2, Option ID :- 938,
. 3, Option ID :- 939,

- 4, Option ID :- 940,
Answer Given:- Not Attempted

Question ID:- 226

When the price of an article is reduced by ¥ 4, 12 more articles can be purchased for T 288,
The original price of each article is

(1) 24
(2)z18
(3)z 12
(4)z6

I TRt =5 T 9o T4 FF 21 S0 497 12 7 7equ I 288 @il ST Tl g
| N TG YA A

(1) 24

(2)X 18

(3)X12

(4)2 6

Options:-

.1, Option ID :- 901,

« 2, Option ID :- 902,

. 3, Option ID :- 903,

. 4, Option ID :- 904,
Answer Given:- 1, Option ID : -901

Question ID:- 220
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Thegraph of y = 3 is aline

(1) parallel to x-axis at a distance of 3 units from the origin
(2) parallel to y-axis at a distance of 3 units from the origin
(3) making an intercept of 3 on the x-axis

(4) making an intercept of 3 on the y-axis

y = 3 T qTH TF A1 g ST

(1) x-9TeT F THTAT g TAT G g 7 3 g9t T 0%
(2)y-ST F IATAL g T g T 3 g5 T 0=
(3) x-37%7 UT F:E< 3 TAEL @
(4) y-3157 U7 ST:Ee 3 FAET 2

Options:-

.1, Option ID :- 877,

. 2, Option ID :- 878,

. 3, Option ID :- 879,

. 4, Option ID :- 880,
Answer Given:- 1, Option ID : -877

Question ID:- 221

For what value of k do the equations kx -2y —3 =0 and 3x + y— 5 = O represent two lines
intersecting at a unigue point ?

(k=3
(2)k = -3
(3 k=6

(4) k = All real values except -6
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kg AT T adfim T kx -2y -3 =0d9T3x +y — 5 =0, 31 @3
T B TH Afgd g fAeg 97 vio=wE g q90a 2

()k=3
(2)k =-3
(3)k =6

(4) k = —6 FT FIEFHT THT AT FEqTH

Options:-

.1, Option ID :- 881,
« 2, Option ID :- 882,
. 3, Option ID :- 883,

- 4, Option ID :- 884,
Answer Given:- 4, Option ID : -884

Question ID:- 250

The area of quadrilateral ABCD with side AB=13cm,BC=12cm, CD =9 cm, DA =14 cm
andBD=15cmis

(1)54 ecm”
(2)21cm’
(3)84 cm’
(4) 138 cm”

=g ABCD &1 &i=%er, forasr 9=t AB = 13 cm, BC = 12 cm, CD = 9 cm,
DA=14cmaarBD=15cm?&g, &

(1)54 cm”
(2) 21 cm”
(3)84 cm”
(4) 138 cm”

Options:-
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.1, Option ID :- 997,
« 2, Option ID :- 998,
. 3, Option ID :- 999,

« 4, Option ID :- 1000,
Answer Given:- Not Attempted

Question ID:- 249

The perimeter of a triangle is 24 cm. If lengths of the sides of the triangle are prime numbers,
then area of the triangle is

(1) /30 em?
(2) 2./30 em?

(3) 3./30 em?
(4) 24 em?

T T3S 1 9T 24 om 2 | T s it Gl # ' J9Tsy s 6 g,
T == F1 AAFT 2

(1) /30 em?

(g)zmr.:mz

(3)3~,/ﬁcmz

(4)24cm2

Options:-

.1, Option ID :- 993,
« 2, Option ID :- 994,
. 3, Option ID :- 995,

. 4, Option ID :- 996,
Answer Given:- Not Attempted

Question ID:- 274
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If P(E) denotes the probability of an event E, then
(MP(E)<0

(2)P(E) >0

(3)0 = P(E) =1

(4)-1 = P(E) =1

af2 P(E) o=AT E it wafHar gerar g, a1
(DP(E) <0
(2)P(E)>0
(3)0 = P(E) =1
(4)—1 < P(E) =1
Options:-
.1, Option ID :- 1093,
- 2, Option ID :- 1094,
« 3, Option ID :- 1095,

« 4, Option ID :- 1096,
Answer Given:- 3, Option ID : -1095

Question ID:- 261
1 1
If tan A - andtan B =3 then tan (2A + B) equals
(1)1
(2)2
(3)3
(4) 4
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7 tan A =5 &% tan B =3, 7T tan (2A + B) 797 &

(H1

(2)2

(3)3

(4)4
Options:-
.1, Option ID :- 1041,
« 2, Option ID :- 1042,
. 3, Option ID :- 1043,

- 4, Option ID :- 1044,
Answer Given:- Not Attempted

Question ID:- 202

The decimal expansion of the rational number will terminate after

8750

(1) One decimal place
(2) Two decimal places
(3) Four decimal places
(4) Six decimal places

. 2457 - .
TIEE HEAT oo T FHAT AT, % T T g7 |

(1) U= FTHAA TATH
(2) =T FIrHAT TAIHA
(3) =TT F9aHAA 9T
(4) = TOHAT T

Options:-
.1, Option ID :- 805,
. 2, Option ID :- 806,
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. 3, Option ID :- 807,

- 4, Option ID :- 808,
Answer Given:- Not Attempted

Question ID:- 278

Two dice, one blue and one grey, are thrown at the same time. The probability that the sum of
the two nhumbers appearing on the top of the diceis 9is

(32

T Aol TT 31T U TAAT U [ T 9T Foht Sar g | S91 I 00 HEaTai 57
TRT 9 BT HT IIA=FAT T
2
(1)3
1
( )gj
4
(3)3
4) 2
( )9
Options:-
.1, Option ID :- 1109,
« 2, Option ID :- 1110,

. 3, Option ID :- 1111,

- 4, Option ID :- 1112,
Answer Given:- Not Attempted

Question ID:- 201

Portal: live.adhyayanmantra.com Connecting Platforms [94]

Web: www.adhyayanmantra.com ﬁ 0 O @o 0


http://www.adhyayanmantra.com
https://t.me/AdhyayanMantra

Available on Join Now

Dy hi
ta #M Adhyayan Mantra 3Heade 3
d

»Available Y Adhyayan Mantra
el ConnectedApp

— Portal: live.adhyayanmantra.com

The largest number which divides 70 and 125 leaving remainders 5 and 8 respectively is
(1)13

(2) 36

(3) 325

(4)875

qE T F AST A@AT BT 70 F49T 125 FT AW F2A 9% FHA: 5 TAT 8 49 F=F4T
(1)13
(2) 36
(3)325
(4) 875
Options:-
.1, Option ID :- 801,
. 2, Option ID :- 802,
. 3, Option ID :- 803,

. 4, Option ID :- 804,
Answer Given:- 1, Option ID : -801

Question ID:- 251

If the sides of three cubes are in the ratio 2 : 3 : 5 and the total volume is 54880 cms, then the
length of the sides of the largest cube is

(1) 14 cm
(2)21cm
(3)28 em
(4)35cm
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af2 o =T A=A T AGATT 2 - 3 0 5§ qAT 191 F T ArFaAT 54880
cm’ 2, AT OFH a2 I T AT i AFETS &
(1) 14 cm

(2)21 cm

(3)28 cm

(4)35 cm
Options:-

.1, Option ID :- 1001,

. 2, Option ID :- 1002,
. 3, Option ID :- 1003,

- 4, Option ID :- 1004,
Answer Given:- Not Attempted

Question ID:- 206

The least positive integer n such that
105" + 106" + 107" is divisible by 10 is

(Y)n=1
(2)n=2
(3)n=3
(4)n =4

I gATeE Lo n e T
105" + 106" + 107", 10 9= A998, §

Q
(1)n =1
(2)n =2
(3)n =3
(4)n =4
Options:-
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.1, Option ID :- 821,
. 2, Option ID :- 822,
. 3, Option ID :- 823,

. 4, Option ID :- 824,
Answer Given:- 2, Option ID : -822

Question ID:- 229

The equation where roots are reciprocal of the roots of x>-x-6=0is
(1) 6x* +x-1=0

(2)x*+6x—-1=0

(3)yx*+x-6=0

(4)B6x* +x+6=0

ag FHIHT f5ra= gor A7 x> -x-6=0 = Al & =qchH 2, &
(1) B¢ +x=1=0

(2)% +6x=1=0

(3)x2+x—6=0

(4) 6x*+x+6=0

Options:-

.1, Option ID :- 913,
« 2, Option ID :- 914,
. 3, Option ID :- 915,

. 4, Option ID :- 916,
Answer Given:- Not Attempted

Question ID:- 243
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(3) 3
4) <

Options:-

.1, Option ID :- 969,
« 2, Option ID :- 970,
. 3, Option ID :- 971,

- 4, Option ID :- 972,
Answer Given:- Not Attempted

Question ID:- 269
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A student takes a bus which runs at x km/hr to reach school. He returns home walking at y
km/hr. The average speed (in km/hr) is
(2 £y
2
(2) xy

(3) 2xy.
X +y

(4) 2
x-y

= =TT 39 7 x km/hr T T FErea At g 9491 y km/hr B 909 7 9=
FTOH I Al2aT g | dEd T (km/hr 5) 2

(1t

(2) xy
(3) 2

xX+y
2xy
(4) 2

Options:-

.1, Option ID :- 1073,
« 2, Option ID :- 1074,
. 3, Option ID :- 1075,

- 4, Option ID :- 1076,
Answer Given:- 3, Option ID : -1075

Question ID:- 270

If the median of a distribution is 25 and each cbservation is increased by 3, the new median will
be

(1) 25
(2) 28
(3) 31
(4) 75
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Trral dAtRST =7 qred= 25 g | I72 g7 T4 § 3 @7 =47 5y, 97 941 Jreweh
g
(1) 25
(2) 28
(3)31
(4)75
Options:-
.1, Option ID :- 1077,
« 2, Option ID :- 1078,
« 3, Option ID :- 1079,

« 4, Option ID :- 1080,
Answer Given:- 2, Option ID : -1078

Subject : GenEng_Q121-125_P6_LANG_S3_TGT

Question ID:- 444
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Read the passage given below and answer the questions that follow by choosing the
correct/most appropriate options.

The old woman prodded him once more. ‘I'll look after the customers. Take the lamp. Go to the
railway tracks. Who knows ... who knows ...

The old man explained, ‘I've gone almost blind and this woman wants me to go in the dark
looking for the boy. The other day | fell down near the railway tracks when | went searching for
him and my knees are still aching and bruised. My chest hurts too .... Listen daughter, we
weren't always like this. It's the floods. It's a pity that we have had to take shelter by the
highway and wait for customers day after day ! We were respectable people. We had two
granaries full of paddy. Even strangers were sure of a meal with scented rice and kaoifish. We
come from a Borbarua family who had the power to punish criminals by crushing their
kneecaps. But my father was kind-hearted .... But our paddy fields, which were as dear to me
as my own flesh and blood, producing gold and pearls, are no more.

The old woman was furious. ‘Why are you digging up those old graves ? I'll myself go to the
railway tracks to see ....]

‘Shut up, old woman. How many times have we heard this talk of his coming back ? But
nothing ! He didn’t come back or show his face to us.’

‘Digging up old graves’ means

(1) revealing past that can only harm oneself
(2) digging and clearing old graves

(3) disregarding the past

(4) learning from the past

Options:-

.1, Option ID :- 1773,
« 2, Option ID :- 1774,
. 3, Option ID :- 1775,

« 4, Option ID :- 1776,
Answer Given:- 1, Option ID : -1773

Question ID:- 442
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Read the passage given below and answer the questions that follow by choosing the
correct/most appropriate options.

The old woman prodded him once more. ‘I'll look after the customers. Take the lamp. Go to the
railway tracks. Who knows ... who knows ...

The old man explained, ‘I've gone almost blind and this woman wants me to go in the dark
looking for the boy. The other day | fell down near the railway tracks when | went searching for
him and my knees are still aching and bruised. My chest hurts too .... Listen daughter, we
weren't always like this. It's the floods. It's a pity that we have had to take shelter by the
highway and wait for customers day after day | We were respectable people. We had two
granaries full of paddy. Even strangers were sure of a meal with scented rice and kaoifish. We
come from a Borbarua family who had the power to punish criminals by crushing their
kneecaps. But my father was kind-hearied .... But our paddy fields, which were as dear to me
as my own flesh and blood, producing gold and pearls, are no more.

The old woman was furious. ‘Why are you digging up those old graves ? I'll myself go to the

railway tracks to see ...
‘Shut up, old woman. How many times have we heard this talk of his coming back ? But

nothing ! He didn’t come back or show his face to us.’
What does the old man say about their past ?

(1) that they were as poor as they are today

(2) that they were well-to-do farmers

(3) that he doesn’t care about his past

(4) that he doesn’t remember his past

Options:-

.1, Option ID :- 1765,
« 2, Option ID :- 1766,
. 3, Option ID :- 1767,

« 4, Option ID :- 1768,
Answer Given:- 2, Option ID : -1766

Question ID:- 445
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Read the passage given below and answer the questions that follow by choosing the
correct/most appropriate options.

The old woman prodded him once more. ‘I'll look after the customers. Take the lamp. Go to the
railway tracks. Who knows ... who knows ...

The old man explained, ‘I've gone almost blind and this woman wants me to go in the dark
looking for the boy. The other day | fell down near the railway tracks when | went searching for
him and my knees are still aching and bruised. My chest hurts too .... Listen daughter, we
weren't always like this. It's the floods. It's a pity that we have had to take shelter by the
highway and wait for customers day after day ! We were respectable people. We had two
granaries full of paddy. Even strangers were sure of a meal with scented rice and kaoifish. We
come from a Borbarua family who had the power to punish criminals by crushing their
kneecaps. But my father was kind-hearted .... But our paddy fields, which were as dear to me
as my own flesh and blood, producing gold and pearls, are no more.

The old woman was furious. ‘Why are you digging up those old graves ? I'll myself go to the
railway tracks to see ....]

‘Shut up, old woman. How many times have we heard this talk of his coming back ? But
nothing ! He didn’t come back or show his face to us.’

The word ‘prodding’ means
(1) sermonising
(2) torturing
(3) urging
(4) loving
Options:-
.1, Option ID :- 1777,
« 2, Option ID :- 1778,
. 3, Option ID :- 1779,

- 4, Option ID :- 1780,
Answer Given:- 3, Option ID : -1779

Question ID:- 441
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Read the passage given below and answer the questions that follow by choosing the
correct/most appropriate options.

The old woman prodded him once more. ‘I'll look after the customers. Take the lamp. Go to the
railway tracks. Who knows ... who knows ...

The old man explained, ‘I've gone almost blind and this woman wants me to go in the dark
looking for the boy. The other day | fell down near the railway tracks when | went searching for
him and my knees are still aching and bruised. My chest hurts too .... Listen daughter, we
weren't always like this. It's the floods. It's a pity that we have had to take shelter by the
highway and wait for customers day after day | We were respectable people. We had two
granaries full of paddy. Even strangers were sure of a meal with scented rice and kaoifish. We
come from a Borbarua family who had the power to punish criminals by crushing their
kneecaps. But my father was kind-hearied .... But our paddy fields, which were as dear to me
as my own flesh and blood, producing gold and pearls, are no more.

The old woman was furious. ‘Why are you digging up those old graves ? I'll myself go to the

railway tracks to see ...
‘Shut up, old woman. How many times have we heard this talk of his coming back ? But

nothing ! He didn’t come back or show his face to us.’
Who are the old couple desperately looking for ?

(1) Their son

(2) The customers

(3) Their daughter

(4) Their neighbour

Options:-

.1, Option ID :- 1761,
« 2, Option ID :- 1762,
. 3, Option ID :- 1763,

« 4, Option ID :- 1764,
Answer Given:- 1, Option ID : -1761

Question ID:- 443
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Read the passage given below and answer the questions that follow by choosing the
correct/most appropriate options.

The old woman prodded him once more. ‘I'll look after the customers. Take the lamp. Go to the
railway tracks. Who knows ... who knows ...

The old man explained, ‘I've gone almost blind and this woman wants me to go in the dark
looking for the boy. The other day | fell down near the railway tracks when | went searching for
him and my knees are still aching and bruised. My chest hurts too .... Listen daughter, we
weren't always like this. It's the floods. It's a pity that we have had to take shelter by the
highway and wait for customers day after day ! We were respectable people. We had two
granaries full of paddy. Even strangers were sure of a meal with scented rice and kaoifish. We
come from a Borbarua family who had the power to punish criminals by crushing their
kneecaps. But my father was kind-hearted .... But our paddy fields, which were as dear to me
as my own flesh and blood, producing gold and pearls, are no more.

The old woman was furious. ‘Why are you digging up those old graves ? I'll myself go to the
railway tracks to see ....]

‘Shut up, old woman. How many times have we heard this talk of his coming back ? But
nothing ! He didn’t come back or show his face to us.’

Which figure of speech is used here ?
‘Paddy fields producing gold and pearls!’ ?
(1) Alliteration
(2) Paradox
(3) Simile
(4) Metaphor
Options:-
.1, Option ID :- 1769,
- 2, Option ID :- 1770,
. 3, Option ID :- 1771,

. 4, Option ID :- 1772,
Answer Given:- 4, Option ID : -1772

Subject : GenEng_Q126-130_P6_LANG_S3_TGT

Question ID:- 449
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In the following sentence, choose the option in which the VOICE has been changed correctly :
A big cat is chasing a puny rat.

(1) A puny rat is chased by a big cat.
(2) A puny rat is being chased by a big cat.
(3) A puny rat was being chased by a big cat.
(4) A puny rat is chasing a big cat.

Options:-

.1, Option ID :- 1793,

« 2, Option ID :- 1794,

- 3, Option ID :- 1795,

. 4, Option ID :- 1796,
Answer Given:- 3, Option ID : -1795

Question ID:- 448

The following sentence has been divided into four parts (a), (b), (c) and (d), one of which has
an error. Choose the part which contains the error.

Geetanjali Shree's ‘Ret Samadhi’ is / one of the few novels in Hindi /
(a) (b)
that has received / international recognition.
(c) (d)

(1) (a)

(2) (b)

(3) (c)

(4) (d)

Options:-

.1, Option ID :- 1789,
« 2, Option ID :- 1790,
. 3, Option ID :- 1791,

- 4, Option ID :- 1792,
Answer Given:- 2, Option ID : -1790

Question ID:- 450
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Choose the appropriate verb form to fill in the blank in the following sentence :
Theotherday Imetapersonwho_ me in getting my first job years ago.
(1) was helping

(2) helped

(3) had helped

(4) had been helping

Options:-

.1, Option ID :- 1797,
« 2, Option ID :- 1798,
. 3, Option ID :- 1799,

. 4, Option ID :- 1800,
Answer Given:- 2, Option ID : -1798

Question ID:- 447

Choose the word opposite in meaning to the word given below :
Aversion

(1) Antipathy
(2) Liking
(3) Sympathy
(4) Lucky

Options:-

.1, Option ID :- 1785,
- 2, Option ID :- 1786,
. 3, Option ID :- 1787,

- 4, Option ID :- 1788,
Answer Given:- 2, Option ID : -1786

Question ID:- 446
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Choose the word nearest in meaning to the word given below :
Cursory

(1) Thorough

(2) Rare

(3) Deep

(4) Superficial

Options:-

.1, Option ID :- 1781,
« 2, Option ID :- 1782,
- 3, Option ID :- 1783,

. 4, Option ID :- 1784,
Answer Given:- 4, Option ID : -1784

Subject : GenHindi_Q131-137_P6_LANG_S3_TGT

Question ID:- 455
frerferfer & oz =% AgE -
O ERIE!
(2) Amofi
(3) =TT
(4)=Tor
Options:-
.1, Option ID :- 1817,
« 2, Option ID :- 1818,

« 3, Option ID :- 1819,

- 4, Option ID :- 1820,
Answer Given:- 1, OptionID : -1817

Question ID:- 451
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Heforiaa § = 978 F1 8957 2 -

(1) T

(2) g

(3) Feter

(4)F=T=
Options:-
.1, Option ID :- 1801,
. 2, Option ID :- 1802,
« 3, Option ID :- 1803,

. 4, Option ID :- 1804,
Answer Given:- 2, Option ID : -1802

Question ID:- 456
(1) ST gEf=g § 72T
(2) ST SIEd § STAar

(3) HET 07 F2AT

(4) T ATEHT grAT

Options:-

.1, Option ID :- 1821,
« 2, Option ID :- 1822,
. 3, Option ID :- 1823,

. 4, Option ID :- 1824,
Answer Given:- 2, Option ID : -1822

Question ID:- 452
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TATE HEATATAT ATAT 9919 g
(1) s=r=ft 9=
(2) 372 TATA
(3) Fom =w T

(4) FHLTT THTH

Options:-

.1, Option ID :- 1805,
- 2, Option ID :- 1806,
. 3, Option ID :- 1807,

- 4, Option ID :- 1808,
Answer Given:- 3, Option ID : -1807

Question ID:- 457
‘Toreeh ATT-9TT 7 FGT ST 9 & (o1 U 955 g

(1) =TT

(2) AT+

(3) arz=efi

(4) AR
Options:-
.1, Option ID :- 1825,
« 2, Option ID :- 1826,
- 3, Option ID :- 1827,

- 4, Option ID :- 1828,
Answer Given:- 4, Option ID : -1828

Question ID:- 453
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FaforfaT 5 | =1 =9EarEr o5 dgl e ¢
(1) =t

(2)
(3
(4)’=

Options:-

.1, Option ID :- 1809,
. 2, Option ID :- 1810,
« 3, Option ID :- 1811,

- 4, Option ID :- 1812,
Answer Given:- 4, Option ID : -1812

Question ID:- 454
‘S ore= T et 2

(D) TFT
(2)TFT
(3) wfager
CNEREL

Options:-

.1, Option ID :- 1813,
« 2, Option ID :- 1814,
. 3, Option ID :- 1815,

. 4, Option ID :- 1816,
Answer Given:- 3, Option ID : -1815

Subject : GenHindi_Q138-140_P6_LANG_S3_TGT

Question ID:- 460
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? TRATST AT eATHIS T TIE0 ST IHH AT 97 =7 77 9o F 397
=TT -
T 7 F 72 T A 91O AT § | T8 A= F ST H T TOF AT AT-ATHT
T T T ST g AT THE-SUT AE-UT FLdT ST g Tel-ae 39 =7 7 S
AT TZAT § — T A7 ITATT & ATT S AH 2 FHT I+AT grar 72471 g — Tg 39
FET T 9TH 20dT1, T2 =g TIAT AT &A1 24T | 90 T FA=TeAqT § 6 A9+ FT
STt sier \aTT, SmarT ST IoaTg § =ATaT S0 =7 97 H SAAT ST 79T Fa 76
ST o9 H ==AT | TH ATATh T 3 7 3= g1 =hl 9T H |t g AT &
TH FIIT LT T TAT T ST IH SaT A T ATA-8 =67 grav 6 q 20 IIa
CEARER N

FH H ATHE ATHT FIAATAL 2 T ATH HHOT ¢ | &5 A€ II(EAT o6 35 FH1 %
| ACHTATE T THT AL FAM T 9O0HA o g0 == & &7 Ieertq < e 2Er 2,
TZdT S 9% 5 Fer 99 7 g S0, Fiew ST FHT H ATST-ATST Kb [Here a9
&, ST | =g FH H AX ST ARTAT L |

Tt F Faoa =1 EeErefi e

O EEsd

(2) FTHIT

(3) SFHTT

(4) Feefier
Options:-
.1, Option ID :- 1837,
- 2, Option ID :- 1838,
. 3, Option ID :- 1839,

- 4, Option ID :- 1840,
Answer Given:- 3, Option ID : -1839

Question ID:- 459
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? TRTLT T eATHIA T TI20 ST IHHh Arame 9% =0 a7 9= % 397
=TT -

HT J 3 9 T Al 9100 AT | T8 A= F AST H T TF AT AT-ATHT
T T 9T 09T @ Y T-947 SrE-47 Fdl Sa1 g qo-09 390 == o =f
HATT TZAT g — I A7 IUATL & AT ST A= FT I+AT a1 7gam1 g — Tg 39
FET F 978 20dT1, T2 =g TIA1 AT SA57 24T | 90 T F=TeqT H THH A9 FT
TSTAAT et |aTw, AT AT IoATE | AAT ST0TSA HT AT H TAAT 21 9T FHFAA 971
oI 297 H 2T | THF ATATI T 6 F d= 219 60 9T § Ht g A7 6

SH FIT LT T TAT TgIT ST I SaT AL T ATA-8 =67 2rarl (6 Je 00 T0A
CEARED N

FH H ATHE ATHT FOAATAL 2 FT ATH FH0A g | &H A IIMEAT o6 35 FH1 %

| ACITATE T THA AL FAM T OHA Fild g0 == H 7 Ieerq < 2 2 g,
TEAT W % % wer 9TH 7 g S Fiew IHT FHT H ATST-ATST Foh Hord @9
T, ST 7 Fg i & AT grT FErar g |

FafrfEa § & F-ar Foa 98t dgil e ?

(1) T H AHT AGTT T ATAT HT 977 FHT g |

(2) FHTTHTE FHATT FT T59T 99 ¢ |

(3) AATHATT T FHA AT FAM FT HT F2 I == 1 g2 721 vt g |

(4) & 3T IITLAT F 3 FHI % (AT 7 g1 F=ZoT ez 99 7gar g |

Options:-

.1, Option ID :- 1833,
- 2, Option ID :- 1834,
. 3, Option ID :- 1835,

. 4, Option ID :- 1836,
Answer Given:- 2, Option ID : -1834

Question ID:- 458
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? TRATST AT SATHIA T T80 AT I AT 9% =0 a7 9= F 397
=TT -

T wer 3 o< T A 9Toit T 2 | g AT F AT H T TF AIIH AT-ATHT
T T T ST g AT THE-SUT AE-UT FLdT ST g Tel-ae 39 =7 7 S
AT TZAT § — T A7 ITATT & ATT S AH 2 FHT I+AT grar 72471 g — Tg 39
FET T 9TH 20dT1, T2 =g TIAT AT &A1 24T | 90 T FA=TeAqT § 6 A9+ FT
STt sier \aTT, SmarT ST IoaTg § =ATaT S0 =7 97 H SAAT ST 79T Fa 76
oI T | =2ar | T AT Th T % 7 = g+ 0 9T H HF T8 ATHIAT 6
IH FIC L= F TAT TZIT S I S(1a9 A7 Tg Ar=-A1=6% 2097 =6 d9 727 99
CEARER N

FH H ATHE ATHT FIAATAL 2 T ATH HHOT ¢ | &5 A€ II(EAT o6 35 FH1 %
| ACHTATE T THT AL FAM T 9O0HA o g0 == & &7 Ieertq < e 2Er 2,
TZdT S 9% 5 Fer 99 7 g S0, Fiew ST FHT H ATST-ATST Kb [Here a9
&, ST | =g FH H AX ST ARTAT L |

TT H HAT =< % FiEg U= OO0 S A= FT AT ATk H gAT 78 IH
FIT T 2191 I 98

(1) =T F AZT H SO AT 7 2470

(2) TI7-3g< F(E-49 T F2AT

(3) AT gHAT AT TgAT

(4) T AT ST T TZar

Options:-

.1, Option ID :- 1829,
- 2, Option ID :- 1830,
. 3, Option ID :- 1831,

- 4, Option ID :- 1832,
Answer Given:- 3, Option ID : -1831

Subject : Hindi_Q141-147_P6_LANG_REG_S3_TGT
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Question ID:- 517

"FAT-GAAT HETAL HT (A etad 5 o J20% 94 3 -
(1) STTereRTer THer ST

(2) =T B =TT

(3) 9= HoT ST

(4) F17 farTE STAT

Options:-

.1, Option ID :- 2065,
« 2, Option ID :- 2066,
. 3, Option ID :- 2067,

« 4, Option ID :- 2068,
Answer Given:- 3, Option ID : -2067

Question ID:- 513
Feaforfae ¥ 'aEe #7 9g=ar=t g
(1) STeTer
(2) =
(3) =TT
(4) THTET

Options:-

.1, Option ID :- 2049,
. 2, Option ID :- 2050,
. 3, Option ID :- 2051,

. 4, Option ID :- 2052,
Answer Given:- 1, Option ID : -2049

Question ID:- 515
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FefeEa F aama f I T aETa g9 2
(1) Frfrae — e 99

(2) ATHIT — 5T AT

(3) fasaTm — 2y o

(4) AR — = TET JHH

Options:-

.1, Option ID :- 2057,
- 2, Option ID :- 2058,
« 3, Option ID :- 2059,

- 4, Option ID :- 2060,
Answer Given:- 1, Option ID : -2057

Question ID:- 512
TITHIAT | HIA-HT AT § ?

(1) Fr=r wfEr
(2) ToT e

(3) Ttz =
(4) 7o =fer

Options:-

.1, Option ID :- 2045,
« 2, Option ID :- 2046,
- 3, Option ID :- 2047,

- 4, Option ID :- 2048,
Answer Given:- 3, Option ID : -2047

Question ID:- 511
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e Faa fr g Tz == 2 -
(1) FA=

(2)=1>
(3) Tz
(4) ==

Options:-

.1, Option ID :- 2041,
. 2, Option ID :- 2042,
« 3, Option ID :- 2043,

- 4, Option ID :- 2044,
Answer Given:- Not Attempted

Question ID:- 516

e J sevra e 2

(1) &t T HsATE T AT ST Hoh — T &I
(2) =T FTe IUHT T &7 7 9% — ITATR A
(3) Tor==hT Tt =ht ST H/oh — e 14

(4) =T FIE =TT 7 21 — T

Options:-

.1, Option ID :- 2061,
« 2, Option ID :- 2062,
. 3, Option ID :- 2063,

. 4, Option ID :- 2064,
Answer Given:- 2, Option ID : -2062

Question ID:- 514
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et o s Aarardt arsg-ay 2

(1) SAoq= — g
(2) sifeeT — | T
(3) UTFE — =TT
(4) T — F7

Options:-

.1, Option ID :- 2053,
« 2, Option ID :- 2054,
- 3, Option ID :- 2055,

. 4, Option ID :- 2056,
Answer Given:- 4, Option ID : -2056

Subject : Hindi_Q148-150_P6_LANG_REG_S3_TGT

Question ID:- 518
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Feaforfas = 1 eraas I20 3T 39% AT U7 U9A1 & S0 J1e77
TATITO FHTET TAT A= 2 S0 I T g6 @eaa # f@ar g | 98 39 aw
TTAAGIE ST SAATaT g | 9Fae0r ad: T%id il a9 g | Ig 99 a1-944d1,
T=2-T==1, Foeaei-0=T4t, 9 % SHret, -t qe-utedy, ¥y w9 9 99
AgARTdl Aol 3 ALE<l 7 940 g | 37 TZ AT ofiaer H2 FqIer a7 T497 IHES o
T AYTUTE F2HTd A= — T FHET g2al 99 99 JTel "4t & = i
Ta-agtg F o uF aqfera garaen &1 [ w700 2 | &g 93t=mo w1 g
T Aqad Sl a9t | [SedT 5T 72T 8 | ATe=4 arar g 1= Jqeq g3dl & 29
sral w1 FFaar stage 38 §7 TgT 8, 98 THE ALEl B 50 TH Afa A5
AT T ATl ATATe241 T24T @HAT @12 30 AFaT Al 9F THT % 61 JiEr
o Toerer ST | #E T TASHE AgL, T, AA-TAAT AL S rA-Seqgai Hr Hwer
ST |

AT F ATEMT TT G0 =g o o F47 7gl g ?

(1) 7T Fa=

(2) ITEIT
(3) STEATHTT
(4) STr=ATET

Options:-

.1, Option ID :- 2069,
« 2, Option ID :- 2070,
. 3, Option ID :- 2071,

- 4, Option ID :- 2072,
Answer Given:- 4, Option ID : -2072

Question ID:- 520
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Feaforfas = 7 eaagas T27 3T 39F AT 97 I9F1 6 997 ST
TATILOT FHTET TAT Fa9 2 S0 THia T 284 @eraa & f5ar 2 | 98 29 a9+
TTAARIT AT SEAATATE | TATAZ0T FAd: Thia & 39 g | Tg G F9-794T,
T=-T==1, Foeaa-HaT4t, I % Srel, W-tE9 qe-aterdy, ey 99 | 99
TEAGTAT AT 3T ALMALL I W g | T 97 Fgar ofider 52 T a7 947 IqSd
AT AT qEATd d19d — T TET g0l 92 F699 a7l JHgeAi F = 07
TTFH o A Al a9l o [SREdT &7 72T 8 | SAe=T arar g (o Aaed g7l & 2
sal ®1 BFaar stumge g ST ST 8, 98 9 ALEAL B 29 THE ATAAHI00
E¥AT 9% AT AATeaal AT (8T @le AT FAAT A1 9 STHI a5 Hf qEl
T foraer S & I9F T TAS S dgs, A9k, A9-TAq1 AT S-S Al 1 e
ST |

e | S 9re= =1 HaEet 2

QO AERIEE]

(2) afv=ta

(3) AFHATT

(4) srEgTT

Options:-

.1, Option ID :- 2077,
« 2, Option ID :- 2078,
- 3, Option ID :- 2079,

- 4, Option ID :- 2080,
Answer Given:- 4, Option ID : -2080

Question ID:- 519
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Ao T=er 71 eaaTas TR 3T 3% AT U7 WAl F ST ST
TATALOT AT TAT A= g ST THia T g8 Fera § =ar g | a8 g9 '
OTAAETE S SEATATT g | TH=<0r FAad: i 7 39 g | T8 G T9-0441,
T=-THE=l, Hoeaai-HaT4t, 9 % STel, W-ta9 qe-aterdi, F=g 9@ 9 9990
AgARTAT HioTl 3T ALE<l 7 W0 g | 37 T2 gt ofiaer §a e a2 947 IHES
Y AHTYTE TTATT S5 — T FHAT Gl 9% F699 J0d | 6 = 3w
TF-aqfs F o uF d@gfoa aatazor w1 [ w729 2 | &g amEer w1 ag
TTHIa® FqAd AT dofl # [SSar ST T2l g | ATe=T ararl g (6 AqeT &7l & 2
Sidt &0 Faar umeder 32 ST 72T 8, 98 394 FAEl #7239 THE ATaa5gor
HTAT OT AT ATeaa1 T2T o Aie AT AqaT A1 T2 FTHT a0 6 Hiel
o foee S & THE i TAATE dg e, A, AA-TAd1 A Sa-seq el H e
ST |

e Triiad 5 T FI9-97 9F 1920 F THA 9g=T Tgr g ?

(1) 79 79T e 747 FE

(2) 7=t =7 & = &% S

(3) TH=g T | @A AgeAglal sAted

(4) T 3 HIAT T AATEET T2

Options:-

.1, Option ID :- 2073,
. 2, Option ID :- 2074,
. 3, Option ID :- 2075,

« 4, Option ID :- 2076,
Answer Given:- 4, Option ID : -2076
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